LS A F 1048 ERMIITATY 4 324 224

517 »227F
K - 4 N
AN /\ D1 L 3 - z,‘
e EFE g LAIFIB e o 100 4 4%
f‘[ 4& 21 j\%i N\
L] s s | 1004

- ERE (BS54 £3304)
(1) %2 2l F e Fho™ o R - B D Menfh s

(A) 0.63 (B)0.49 (C)0.15 (D) 0.78
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(A) 0.625 (B)0.6534 (C)0.706 (D) 0.3431
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(3) Suppose a Poisson probability distribution with 4 = 12.5 provides a good approximation of the distribution of a
random variable x. Find yx for x.
(A)3.54  (B)156.25 (C) 6.3 (D) 125

(4) Suppose a random variable x is best described by a normal distribution with =60 and “ = 9- Find the z-score that
corresponds to the value x = 96.
(A) 9 (B) 4 (C) 36 (D) 1.67
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(6) A number between 2 and 9, inclusive, is randomly chosen. Events A and B are defined as follows. Identify the
sample points in the event A N B.
A: {The number is even}
B: {The number is less than 7}
(A){2,3,4,56,7,9 (B){2 4,6} (©){23,4,5/6,7,8} (D){2,3,4,5,6,8}
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B 1 2 3 4 5 6 7 8
HIE &0 45 50 46 59 65 51 42 55
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